e = gfiqR® gerRigor
1—mmmwmﬁm$mmm$mwmm$ﬁw
mﬁw@ﬁmﬁamﬁaﬁmqﬁwaﬁﬁﬁ.aﬁw;

2—gERIYY TIF BT 915 — A — ﬂ\'ﬁ?@\‘

3— &G — 4.957 hee x 2= 9.914 hec

4— G &2 o= ara oigi & der — 2000 dier ufer 20 — 19828.00
5— ?ﬁﬁ @ T arair gSnaar —

= e |
1 |92 a8 3R g1 &
1 |99 o dmiea 2914 80 | 19500 1140.11}
2 |& = Wt (3t wer ) 9.914 | F0 | 353500 36979.22]
3 |9 S o= (el 9.914 g0 38637.00| 383047.22
4 [T1 U3 S WREIT U4 IR g ben d—aren @ FHIV Od 9
R e BX6725-53800.00 9.914 | <3 | 915000 90713.10
3— 91X BRAf ¢ (3x2.50x10)5x7540=37700.00
AT — 91500.00
5 186 Y P (0.30%0.30x0.45) 1T T whea 19828 | o | 7.95 157632.60|
g |FHETT afear aE 2914 | 20 | e1500 9071.31
5 (9 @ B 19828 | se | 620 122933.60)/
8 I 9 oY I3 Ha— SN 99 &I U9 A=y il 09 2 9.914 &80 915.00 9071.31
: = H1 <l0 Ho 500.00
T — HorH =R 811088.47(
5 ([T =y |
1 [TEET W (0.30x0.30x0.45) 994 e | 145 14.08
NEEE T 19808 T E T o 35690.40)/
5 [Uter gar o 19828 | W& [ 549 178452.00
4 [T T @ ey (9828 | W& |, 54923 56
s [T B FRIE — =R T qar (@ ar) 19828 | dr 1.89 37474.92¢
6 [91% @ & W g 19828 EE 1.42 28155.76
5 JERIIY IF F IREVT 9N @1y 7 "o 9.914 20 685.00 47537.63
g (81 FERIUW &= & aradia ‘
T O, TH 07 o e = S0 H0 1000.00
8.2 T I/ IXATE b AT 4 AL Pl U2l WE T AU 2000.00
8.3 GEIRIY W oIMTad = atet O PI S e b LS 1000.00|
9 é];ﬂ &y ;\9‘137[(‘3‘\!@ ey @,c—;ﬂgga = Q:Tﬁ;—_‘—:_;— s EDDME
BT — : so000
T frdi T 387748.3479




DR T A HrAT g | ¥ E = AT
(%90)
FERIYYT BT Y7 99 BT TEwEr
A9 9Y  TUWRI 92E a9 4 IEY B
el B AR e
1983 8.00 15864.00
ater g B s —
1983 9.00 17847900
9 TGSl WISl U4 A9 B2 TEe i
1983 4.40 8725.20
&R 4 AT Wie eI o | eT
1983 1.95 3866.85
dlel N Haeiae aarT uig 72
1983 1.63 3232.29
9.914 685.00 81493.08
AT el gren a1 &0 WO .
2000.00
2.1 Egaﬂmw 8 @ T @ T BW U9 e gl o &0 |0 1000.004~
ECIHT Uikl 20
2.2 X AT & 4TEN 4 Hig 9eTl WE AT 0 Ho
2000.00
2.3 JETRIUYT ¥ AMTId 19 arel araion @ e e \TFTJ“_’"?TZ'?
Hﬁmamarﬁ?gqmqmn R B AR wfifar o
UICHTES a1
LS 1000.00} -
I P F0 W0 S
500.00
AT 137528.42
AR T g ad &1 wewan
AT TG B SURT (Zetd 99 N arREre Bl 1 g 30
9.914 i 685.00 81493.08
3T BT &0 W0
500.00
AT 81993.08] -
JERIYY BT gl a6 &1 WERET -
RTTT ¥ & SURIT T A% F SrRErT @ 1 A% 20
9.914 685.00 81493.08
3= BT &0 HO
500.00
T 81993.08{
RS &1 Igd 96 &1 vwEwwh
R 9 & QURTT @gel ay § arRevr s 1 a9 20
9.914 i 685.00 81493.08
I H <0 Ho
500.00]
arT 81993.0¢|




1 9.914 €0 | 685.00 81493.08
=y B 0 Ho
2 500.00
AT 81993.08
JETRIUYT &1 B3 a4 &1 TEREra
O T8 B SN B a8 B A9 B 1 an .
1k 9914 = 685.00 81493.08
= B 0 o
: 500.00
AT 81993.08
JERITYT ST Fiad 96 S T@x@™
9] 99 & SURTT WIad a4 8§ AeEvl B 1 a9 50
1 5 9.914 : 685.00 $1493.08
AT B 0 V0
2 500.00
R 81993.08
JETRIIY BT H6s I§ ST @@ |
AUV Y H IUN AT aY H REV b 1 gy 3
il 9914 : 685.00 81493.081
=T P 0 o &
2 500.00
AT 81993.08
RIUUT a4 & SURIST AA1d 99 # JERET B 1 qg 30
1 9.914 685.00 81493.08
3T B 0 o
2 500.00
AR 81993.08
JERIYY BT 64 95 ST XGX@d 5
e 99 B TWIT <9d g9 § IRV B 1 99 s
1 : ST 9914 | 0 | 68500 8149308
A B o0 o
2 ; 500.00
7T 81993.08
2073802/956
‘N D D 2RAT ~

ERREIEEaR
TR

FEIT O G Teas

VRGN v Nei



